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This question paper contains two parts — A and B.
Part A is compulsory for all.

Part B has two options — Analysis of Financial Statements and
Computerized Accounting.

Attempt only one option of Part B.
All parts of a question should be attempted at one place.

Qg &
(TS T qUT AT & e St
PART A
(Accounting for Partnership Firms and Companies)
ot QU1 FY Th BH H AEER O q°1 AT SR died o | 39kt Tt gfeEy
A T 2,00,000 TA T 3,00,000 off | FEEH Her@ H S W 12% ¥fd a9

TS 1 YEEE 91 | 31 A=, 2016 1 TG gL A9 * fog ISt W = fou
o w5 1Y T e R feIm T |

3fe & e = foru smreves aurieE gfafse @ |

P and Q were partners in a firm sharing profits and losses equally.
Their fixed capitals were ¥ 2,00,000 and ¥ 3,00,000 respectively. The
partnership deed provided for interest on capital @ 12% per annum. For
the year ended 315t March, 2016, the profits of the firm were distributed
without providing interest on capital.

Pass necessary adjustment entry to rectify the error.

T g 3 T 100 I¥F & 500, 12% FOTGHT I 5% o g W 1197 & fog
JMEEH A=A bl | 39 FRUGAT T AEE T a1 q9=Td TR T HET o7 |
600 VAT < fOIT STTdE U gU | Wt 3ATagehi <l STATIGsh STUR T i
T Tz I |

Ig A §U fob @l TR 1 YW TG W HT AT, O] o AT % g
ATagIeh UsiHH= Sfafsear iy |




X Ltd. invited applications for issuing 500, 12% debentures of ¥ 100 each
at a discount of 5%. These debentures were redeemable after three years
at par. Applications for 600 debentures were received. Pro-rata allotment
was made to all the applicants.

Pass necessary journal entries for the issue of debentures assuming that
the whole amount was payable with application.

3. e fafiees 3 T 10 79 & 1,000 THaT 3730 w1 T 2 Ufd 93 H1 9oUH AT A
PTAA 9 i T g w o= | T 3 9fd o i Af<m I onedft #ift St
off |
9 i 39 Afean Uiyt it o Hifve e | o w1 gEfeta o s
Tehdl B | 1
7 Ltd. forfeited 1,000 equity shares of ¥ 10 each for the non-payment of

the first call of ¥ 2 per share. The final call of ¥ 3 per share was yet to be
made.

Calculate the maximum amount of discount at which these shares can be
reissued.

4. T AAT NI TH BH H ARGR 9 | d G A9 GG Bl BH H TGN <A1 AR
g | AT o Afiea safoaal ht Tt foheel Q1 AR <t g=ht sAmse o 3
B4 § Y99 & ¢ Fehd | 1

Durga and Naresh were partners in a firm. They wanted to admit five
more members in the firm. List any two categories of individuals other
than minors who cannot be admitted by them.

5. ST 3N % MR R Trft ISt @1a’ qen ‘aREd-eiia St @’ W e SR T
HIT | 1

Distinguish between ‘Fixed Capital Account’ and ‘Fluctuating Capital
Account’ on the basis of credit balance.

6. I TAA T TH BY H HEIGR & qAT ATH-FIH 5: 3 AT H died I | I8
I Teh T ATHER ST | 3, § qAT & 1 71 Y A9 39 3: 2 : 3
oA R F R A F R | 7 % A
HIT | 1
A and B were partners in a firm sharing profits and losses in the ratio of
5 : 3. They admitted C as a new partner. The new profit sharing ratio

between A, B and C was 3 : 2 : 3. A surrendered éth of his share in

favour of C. Calculate B’s sacrifice.
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i, U, HAR AT 76 Th BH H ATSER & A7 3:2:2: 13 A § @
Fied 9 | 1.2.2017 I & = AR U0 R G Hid, M9 19 FUR o A
3:1:1% ¢ W9 TJIMA ! U FRIT TRT | T h STTHRI UZY HLH W BH
sl TATf T T T 3,60,000 foham 7 |

3O HREIHA fEHfURl sl TS SR gU T o 3TehI U-Ul hid T &AT(d h
TG o ot H 6l J&dehi § a9 UeHH= fafse i |

Kavi, Ravi, Kumar and Guru were partners in a firm sharing profits in

the ratio of 3 : 2 : 2 : 1. On 1.2.2017, Guru retired and the new profit

sharing ratio decided between Kavi, Ravi and Kumar was 3 : 1 : 1. On
Guru’s retirement the goodwill of the firm was valued at ¥ 3,60,000.

Showing your working notes clearly, pass necessary journal entry in the

books of the firm for the treatment of goodwill on Guru’s retirement.

feen fafiee A fen fafiee @ wefisd =1 s forn qen e fafies =61 fa=

YR & YA fohall
i T 10 I¥% & 10,000, THAT J: HI 10% & Ay W ifia
Hh |

(i) T 100 YTk o 200, 9% FRUTIHT sl 10% o &g G I e |
(iii) Y T HIE TE o3 T 50,000 T TIHT 9 THHR b |

Tt & 39 wa fam foafiads st saeh gam & fore foan fefies <t geaent o
IR s gfefseat i |

Disha Ltd. purchased machinery from Nisha Ltd. and paid to Nisha Ltd.
as follows :

1) By issuing 10,000, equity shares of ¥ 10 each at a premium of 10%.
(i1)) By issuing 200, 9% debentures of ¥ 100 each at a discount of 10%.

(iii) Balance by accepting a bill of exchange of ¥ 50,000 payable after
one month.

Pass necessary journal entries in the books of Disha Ltd. for the purchase
of machinery and making payment to Nisha Ltd.
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9. U fAfCE T 10 Y% W FHAT I H fa9ad T 10,00,00,000 hHi ferepd
GSTt o T1Y Sfihd B | HE <kl 3Tfired @ Ul wed gt T 6,00,00,000 ot |
T Taggehl ! TSR Y& H B AT STEUTHA TSI T o ST &1
% fawm & fou sl 7 98 W v Ja-fogq w9 o @ faofe feen |
T SR, TETETE a7 draiT § hisiel foehtd ohral ehl TATOHT 1 +ff ol
o | 1ot e focfi STrawehdtatt ol qU i o T¢I 9 T 10 T
% 1,00,000 HAT 3730 99T T 100 T3k s 1,00,000, 9% FOTGHAT o AT <A1
fotar o | SRoTasl 61 S 99 ANl o 9vETd ST W RET & | AR ae
RO 1 T qU ®9 | AGT & T | 2,000 AT I Th GRS T 2
g 3791 <A1 AT<m A=A TRT 1 PTAE HH | 39FFA @ |
HroT TfafEm, 2013 6 g 111 % TE4Hi o TR HEoT & el foewor §
N YSft ol YelRia Hifow | W feedl Q1 qedi i vgee Wt hifow fog s
ST ST A8 3 | 3

Ganesh Ltd. is registered with an authorised capital of ¥ 10,00,00,000
divided into equity shares of ¥ 10 each. Subscribed and fully paid up
capital of the company was ¥ 6,00,00,000. For providing employment to
the local youth and for the development of the tribal areas of Arunachal
Pradesh the company decided to set up a hydro power plant there. The
company also decided to open skill development centres in Itanagar,
Pasighat and Tawang. To meet its new financial requirements, the
company decided to issue 1,00,000 equity shares of ¥ 10 each and
1,00,000, 9% debentures of T 100 each. The debentures were redeemable
after five years at par. The issue of shares and debentures was fully
subscribed. A shareholder holding 2,000 shares failed to pay the final call
of ¥ 2 per share.

Show the share capital in the Balance Sheet of the company as per the
provisions of Schedule III of the Companies Act, 2013. Also identify any
two values that the company wishes to propagate.

10. dfi.fiua. fafes 9 T 100 5@F & 500, 9% FOGHAT hl, 8 6% & T W
forifira fopem o o, = 100 T & Twar 3N, = T 25 afd 31w & Afereny
w frifea fopam mam on, § gfEfda fmam | 9% ot & fime w s ot anf
qeh AUTARGd &l T T 2 |
Rt R fewafir i wase gRIld g, 9% ROAT i wHAT T H G
T e USHH=ET Afafsedl hifvu | 3

BPL Ltd. converted 500, 9% debentures of ¥ 100 each issued at a discount
of 6% into equity shares of ¥ 100 each issued at a premium of ¥ 25 per
share. Discount on issue of 9% debentures has not yet been written off.

Showing your working notes clearly, pass necessary journal entries for
conversion of 9% debentures into equity shares.
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HY qAT 8T Th BH H HeiGR off qo1 AW 3 : 5 % I1dTd # diedt of |
ITeh! TR g1 ARl T 4,00,000 AT T 6,00,000 off | 1.1.2016 1 AT

ﬁm%im%m@wwﬁmmw | S Y W F ST W

I &1 | U fekam | AT 1ot Ot W fotw T 4,00,000 @ €AY qen A&
&1 I 1 T TRl W@ S A | 1 % Yas W B i T i qer 1y,
A8 T EHT h T A U hl MOHT I | a8 wHd Y Tk ST
AT % 319 WIT =l TG T8l 18, AT o YA W S o A@TehT & I
AT U= gfafse oft Hifu |

Madhu and Neha were partners in a firm sharing profits and losses in
the ratio of 3 : 5. Their fixed capitals were ¥ 4,00,000 and ¥ 6,00,000
respectively. On 1.1.2016, Tina was admitted as a new partner for Lth
share in the profits. Tina acquired her share of profit from Neha. Tina
brought ¥ 4,00,000 as her capital which was to be kept fixed like the
capitals of Madhu and Neha. Calculate the goodwill of the firm on Tina’s
admission and the new profit sharing ratio of Madhu, Neha and Tina.
Also, pass necessary journal entry for the treatment of goodwill on Tina’s
admission considering that Tina did not bring her share of goodwill

premium in cash.

3TNk, FTe qAT T Teh HH H TIEGR o TAT 4 : 3 : 3 UM H oMY died

g | w1 ufd a¥ 31 U= H U Y&k §=¢ el 8 | 31 femesR, 2016 H

3TN T &I &1 T | FTeieHl Hor@ § wadgH o foh foreft ameier i 9oy g4

T 3Teh fIurees @t Fefafad < g .

(i) 39k YSf @Id T AY | 1.4.2016 I 320 & Yol @A H T 90,000 FH
Y o |

(i) IS W 12% TN A |

(iii) 35! Gog o a9 H, BH o AW H § IFH1 9T [ERT Joarh fUsd oy
% fasha W g o9 i X & T Ao, S R 25% off | 31 fommew,
2016 T HH I fas6a T 4,00,000 T |

(iv) WH ol BTG | IEh1 9T | 3Tk 1 Gog T HH hl EAT(d I JeAToh
T 4,50,000 feram T |




IS Holg # 7d "WiggR & frsaees o ufy A fefafed st s
gy ot o

(i) 39! Ug o I H IGRT ARV | 31.12.2016 T 3Tk h1 HTE
T 15,000 9T |

STET T 12% Sk &A1 FT&eh! THT T 1,500 hl T8 |

(ii)
3Tk o TISITEeh ol TRgd i o T BH o @I + =M 1 ISi @I
TR TopaT T STl ® 364 36 AU SIS A | B % w@ud gl dar T
TR 373Meh <kl it @rar Fr femm mn R

JT9TIeR <hT Yol @rat
T T
2016 2016

fommst 31 | 15,000 | A1 | 90,000
fegraw 3l | | e fegraw 3l | 8,100
femmaw 3l | | e ffgrt 31| o 40,000
fegrw 3l | 90,000

fegrat 31 | 90,000

3,18,100 3,18,100

3TN o Sfl @Td ! U HIT |
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Ashok, Babu and Chetan were partners in a firm sharing profits in the
ratio of 4 : 3 : 3. The firm closes its books on 315* March every year. On

315 December, 2016 Ashok died. The partnership deed provided that on
the death of a partner his executors will be entitled for the following :

1) Balance in his capital account. On 1.4.2016, there was a balance of
T 90,000 in Ashok’s Capital Account.

Interest on capital @ 12% per annum.

(ii)
(iii) His share in the profits of the firm in the year of his death will be
calculated on the basis of rate of net profit on sales of the previous
year, which was 25%. The sales of the firm till 315! December, 2016

were ¥ 4,00,000.

His share in the goodwill of the firm. The goodwill of the firm on
Ashok’s death was valued at ¥ 4,50,000.

(iv)

7 P.T.O.



The partnership deed also provided for the following deductions from the
amount payable to the executor of the deceased partner :
) His drawings in the year of his death. Ashok’s drawings till
31.12.2016 were ¥ 15,000.
(ii))  Interest on drawings @ 12% per annum which was calculated as
< 1,500.
The accountant of the firm prepared Ashok’s Capital Account to be
presented to the executor of Ashok but in a hurry he left it incomplete.
Ashok’s Capital Account as prepared by the firm’s accountant is given
below :
Ashok’s Capital Account

Dr. Cr.
Date Particulars Am;unt Date Particulars Am;unt
2016 2016

Dec31 | ... 15,000 | Aprill | ... 90,000
Dec31 |  coies | e Dec31 |  .......... 8,100
Dec31 |  cooees | e Dec31 |  .......... 40,000
Dec31 |  .......... 90,000

Dec31 | ... 90,000

3,18,100 3,18,100

13.

67/3

You are required to complete Ashok’s Capital Account.
Hiue, WifEd, U TAT THY Th BH § ATER 9 a1 5:2:2: 1 39 §
A Fied A | 1.4.2016 I 3AH1 feafa fgawor fm= yer @ o

1.4.2016 1 THiUA, AITEd, A AT Wk ot Teaufa ferawor

CERIE Tt afra ot 8,00,000
Hiue 3,50,000 1e] TRt 4,00,000
Hifed 3,00,000
YA 2,50,000
ThT 2,00,000 | 11,00,000

fafae s er 50,000

HTR aafagfd g= 50,000

12,00,000 12,00,000
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I fafyr @ Aeert 4 9oy § a9 Sust-atsK Sied o1 ol fRe | g@

33 o ToTC ®H 61 ©AT(d 1 Jeaiehd T 72,000 Toram = |

g ot faofa foram mam o -

()  TRft g | 10% 1 GodgE T SO qel SR afagfd

e % faeg g@ &1 SFHE T 70,000 TR SITET |

(i) @SN sl IR 1 TU Y IuT H gHEifera ok Srem | g8k forg

ATSIENI o =] @I @iel Sa |

T @Tdl, ARl o Yol @Td a1 gaifed ®H 1 fedfd foewor duam

it |

Kapil, Mohit, Roshan and Rakesh were partners in a firm sharing profits

in the ratio of 5 : 2 : 2 : 1. On 1.4.2016 their Balance Sheet was as

follows :

Balance Sheet of Kapil, Mohit, Roshan and Rakesh as on 1.4.2016

Liabilities Am;“nt Assets Am;“nt
Capitals : Fixed Assets 8,00,000
Kapil 3,50,000 Current Assets 4,00,000
Mohit 3,00,000
Roshan 2,50,000
Rakesh 2,00,000 | 11,00,000
Sundry Creditors 50,000
\f?{Vorkmen Compensation 50,000
eserve
12,00,000 12,00,000
9
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From the above date the partners decided to share the future profits
equally. For this purpose the goodwill of the firm was valued at ¥ 72,000.

It was also agreed that :

) Fixed assets will be depreciated by 10% and the claim against
Workmen Compensation Reserve will be estimated at ¥ 70,000.

(i1)  The capitals of the partners will be adjusted according to their new
profit sharing ratio. For this, Partners’ Current Accounts will be
opened.

Prepare Revaluation Account, Partners’ Capital Accounts and the
Balance Sheet of the reconstituted firm.

1.4.2015 ! TH..UH. fdfide 9 T 100 9% & 12,000, 11% OIS <l
ot 8% % 52 W foham | 39 =Rora=t &1 19 9Nt % UvEg 10% % AU W
MY T 3 | HEET AT edoh Ifd a9 31 O I s w8 | 11%
FOEAT RS 9id 9 30 et qem 31 |4 Sl ¢F BT B | Eid 9 L ekt
$ W 10% 2 |

31.3.2016 I W BT Y o [T 11% O] o FRIHF o1 FOM9E] R <A
I AT U= fafseat i |

On 1.4.2015, MKM Ltd. issued 12,000, 11% debentures of ¥ 100 each at a
discount of 8%, redeemable at a premium of 10% after three years. The
company closes its books on 31 March every year. Interest on
11% debentures is payable on 30th September and 315t March every year.
The rate of tax deducted at source is 10%.

Pass necessary journal entries for the issue of 11% debentures and
debenture interest for the year ended 31.3.2016.

T wEEd BH % fomed & wwy fefeiad sawenst § stawEes UsHmEET

gfafseat hif -

(1) T 500 % ferEed =52l 1 WA T AIPER, S A fora |

(i) TH HRIER, A T 750 o HHIH W foged == &1 Yae & 6l
TEHd B T | adiaeh foEed &9 T 650 9 e yTaE S g
fopam T |

(iii) U HEER, S T 3,700 & <F ITftes W foeed & 6 ca@ &
T wEHa 81 ™ | 98 faued s ol 98T w1 & fou oft weEEa on |
etk foeed =™ T 4,200 1 YTAH ST 9 BH o Tehe d R |
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(iv) ¥ 10,000 % <& IS W Th GTEER, G &l foued &1 6 ta@
% foru fgea fomem o | | foreres == &t 98q A o ot wgua =l
T | " A 3O ¢ e % ®9 H T 10,000 T Wik o o |
Tieh I TEST &l IEeh @Id § TIHG T feam T e |

(v) U greer, foh T 12,000 % <7 wiiefies ® foue +@ 6 tat@ +
fau ggma & m | faght fomen sl @ agd w1 % forw oft gHa o |
qrEdfae faeed 2™ T 12,500 1 JIAH Th I HIEGER, FAEd o
forerhl it T | foham |

(vi) Toeres =3 = 5,000 9 |

Pass necessary journal entries on the dissolution of a partnership firm in

the following cases :
1) Expenses of dissolution ¥ 500 were paid by John, a partner.

(i1))  Joney, a partner, agreed to bear the dissolution expenses for a
commission of ¥ 750. Actual dissolution expenses ¥ 650 were paid
by Joney.

(iii) Bony, a partner, agreed to look after the dissolution work for a
remuneration of ¥ 3,700. He also agreed to bear the dissolution
expenses. Actual dissolution expenses T 4,200 were paid by Bony
from the firm’s cash.

(iv)  Sony, a partner, was appointed to look after the dissolution work
for a remuneration of I 10,000. Sony agreed to bear the
dissolution expenses. Sony took away stock worth ¥ 10,000 as his
remuneration. Stock had already been transferred to realisation
account.

(v)  Vikky, a partner, agreed to look after the dissolution work for a
remuneration of < 12,000. Vikky also agreed to bear the
dissolution expenses. Actual dissolution expenses ¥ 12,500 were
paid by another partner, Clive, on behalf of Vikky.

(vi)  Dissolution expenses were T 5,000.

11 P.T.O.
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o qon <t s w0 H TSGR § 991 4 : 1% U H oY dfed 8 | 31.3.2016
&l IRt feufa foawor f g @ o

31.3.2016 k1 € qot <t 1 feufa ferawon
. qf3 . Tt

I T USR] T
fafaer eer 40,000 | UHE 24,000
gad O < foTT Jae™ 4,000 | TR 36,000
3Ted I 6,000 | ¥ 40,000
= Ty 10,000 | ®T=R 80,000
AT I A RIRERIE T 80,000

LS| 1,20,000

Sl 80,000 2,00,000

2,60,000 2,60,000

mﬁ%ﬁr@xﬁm%im%méaﬁﬁmﬁmmﬁm@wm

oTIT AT -

(i) 3 W St W fotw = 1,00,000 qom wfd fifim & o9 Wi % ot
Z 20,000 AT, SEes Mg 9ET 1 H 9UT € g e R for S |

(i) T 2,000 % TIGRI I FId KON o &9 § Iufcifga foram Som qen
TRl I gEa au ey sl o oI 4% w1 grae™ feRan ST |

(i) TIH B T 2,000 § HA foha @M, HHR W T 4,000 H eIag™
TR ST T TATE T W1 TR 10% h1 YoIgid e SIe |

(iv) ¥ 7,000 faw, S fefa foewor 4 7€ goie 1w &, =1 <@ fohan s |

(v) ¥ 2,300 1 TH 3Icd TUHT &1 foad o & o@n g&aei o fera
ST |

%Y I JEdehi § 3 o JAY T IUAH el o foTT 3Travereh s gfafseat
HIfT |

HAAT

12
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iR, T a1 T T BH § ATSER 9 99T 4 : 3 : 3% UMM H Y-gIH

died ¥ | 31.3.2016 <kl 3ehT Teufa foemor f=1 yepr @ o

31.3.2016 ! THR, ITAHT qAT TAT 1 feata feamor

TIER 1,10,000 | UhS 80,000
G =Y 60,000 | TR 90,000

dfot |l qEEE 10,000 80,000

gHR 3,00,000 ik 1,00,000

IJEHH  2,50,000 wef 3,00,000

| 1,50,000 | 700,000 | WaH 2,00,000

THEd 60,000

NICESIERCIGI 50,000

8,70,000 8,70,000

Iueh fofer =l THIT A S7arehrst T8 foha qem 98 weAid g8 o

(i) T 4,000 % IR I TFA RO o €4 H ARG foham SIT@m Qe
IR W o Td Hig™ N o T yae™ &l 5% T @1 S |

(ii) T 20,000 % Uk oHer, formem g 7@ foram e on, &1 w@r fman

ST |

(iii)

HeAGTE TR SITE |

(iv)

T T T AT § AW 3 : 2% AT H Sl |

TehEdl ! qUId: STAfIRgd foham SO qem weieh, el 91 wad W 5%

(v) EHR o TSI UgW i T BH hl @AM 1 Geoiehd T 5,40,000 fera

R

TR o TR TEW HH W HBH hl JEehl H IUAH oAl o [T A9

U= gfafsear ki |

13
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C and D are partners in a firm sharing profits in the ratio of 4 : 1. On
31.3.2016, their Balance Sheet was as follows :

Balance Sheet of C and D as on 31.3.2016

Liabilities Am;“nt Assets Am;“nt
Sundry Creditors 40,000 | Cash 24,000
Provision for Bad Debts 4,000 | Debtors 36,000
Outstanding Salary 6,000 | Stock 40,000
General Reserve 10,000 | Furniture 80,000
Capitals : ﬂliﬁﬁiiﬁfy 80,000
C 1,20,000
D 80,000 2,00,000
2,60,000 2,60,000

. 1 .
On the above date, E was admitted for Zth share in the profits on the

following terms :

(1)

(ii)

(iii)

(iv)

(v)

E will bring ¥ 1,00,000 as his capital and ¥ 20,000 for his share of
goodwill premium, half of which will be withdrawn by C and D.

Debtors ¥ 2,000 will be written off as bad debts and a provision of
4% will be created on debtors for bad and doubtful debts.

Stock will be reduced by ¥ 2,000, furniture will be depreciated by
¥ 4,000 and 10% depreciation will be charged on plant and
machinery.

Investments of ¥ 7,000 not shown in the Balance Sheet will be
taken into account.

There was an outstanding repairs bill of ¥ 2,300 which will be
recorded in the books.

Pass necessary journal entries for the above transactions in the books of

the firm on E’s admission.

OR

14
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Sameer, Yasmin and Saloni were partners in a firm sharing profits and
losses in the ratio of 4 : 3 : 3. On 31.3.2016, their Balance Sheet was as

follows :

Balance Sheet of Sameer, Yasmin and Saloni as on 31.3.2016

Liabilities Amount | 4 ccets Amount

Creditors 1,10,000 | Cash 80,000
General Reserve 60,000 | Debtors 90,000

Capitals : Less : Provision 10,000 80,000

Sameer  3,00,000 Stock 1,00,000

Yasmin  2,50,000 Machinery 3,00,000

Saloni 1,50,000 | 7,00,000 | Building 2,00,000

Patents 60,000

Profit and Loss Account 50,000

8,70,000 8,70,000

On the above date, Sameer retired and it was agreed that :

) Debtors of ¥ 4,000 will be written off as bad debts and a provision
of 5% on debtors for bad and doubtful debts will be maintained.

(ii)
(iii)

An unrecorded creditor of T 20,000 will be recorded.
Patents will be completely written off and 5% depreciation will be

charged on stock, machinery and building.

(iv)
(v)
< 5,40,000.

Yasmin and Saloni will share future profits in the ratio of 3 : 2.

Goodwill of the firm on Sameer’s retirement was valued at

Pass necessary journal entries for the above transactions in the books of
the firm on Sameer’s retirement.

e w. [ 7 T 10 995 % 50,000 THAT A HI T 8 Ufd 3 &
arferey W it s & fofe stagd st fohe | Uiyt w1 yam = gehr

o R AT -

AT W : T 4 Yl 31 (T 2% ATy afza)
A W : T 6T 31 (T 3% ATy dfza)
YW AT W : T 5 Ufd 37 (T 1% ey Afga)
USRI IS L IRICE TR IR UK
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ot qofa: 1fyed &1 T | 200 37901 6 Teh ITERH, MUTA o e TR H1
PTAA TE1 foham qem 400 3T o SAVGWRh, WEd F JAGH AR A7 AR A
PIAH e TRT o &Y HL T | A6 o qod 99arq MU o AT h
O K o TR | 35k URETq YoM AT "t ME | 100 ST %k Th U,
FOM A JUH IM=AT TR AT YIAE T80 ORI FA 300 M o Teh ITLRH,
firer 4 wom = it o wrer gEdl A Wit ot ot A W feEr | gem
AT TR I A o Gd I9ETd HOUM < STRM 1 BT R ol T | 39
qeETd, g a9 | ATeAT TR AW TE qen quid: ST &1 7T | g fR g
at oTei Bl T 9 U T YU Yea g s T T |

I9YTh TGl oh 1T SHFIHT shl JEdehi H TTTTIh USHMET Fafseat shifT |
arera

SI.5%h. TdfHeg 4 T 10 T % 50,000 HHAT 3790 hl T ed W Fifa
% oI staed stmf=a fopw | TfSt st A = JehR & s o

e W ; T 2 9id 31

JAMEH W : T 4 9fd AW

W qUT AT T W W R
e ot T sfu-sfirgm gemm | 30% 3R < fAIQ Areel i ® W T m
qUT AT TR a9 X & T | AT AEEH B 1 YHR F e foha
RIT T

groft 3TaeA fopu U e7w aTefeq fepu T amm
I 80,000 40,000
IT 25,000 10,000

9 stregent 39T T AT TR TR Ik g AW Y T8 SAffe ufy
T U 3ATee 9T eF TR H & fof=m |

goft 10 Graf-og U AWMU, dueh, e 1,000 3730 o fow 3maed fomam o,
9 ST TR 1 YTAE T8l FRAT | 100 3TN o Th HANUWH, TS A i &
TRT &1 YA &1 fhar | T 8vft 11 § Tf-ad o1 | 37eed o qed v,
ek qAT TS, QI < TR T GLT L ToTdl T | 38h U9 Yo adm Af=m
ITEAT AT TS qAT G0 AR I & T8 | G q°AT U &0 R T M h
T 11 vfa o7 qui wem gA:feifia s feam ma

STH T o ToTu hraT sl J&dehl § 3TTavdeh UsHTHET Tfafsedt Hiv |
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VXN Ltd. invited applications for issuing 50,000 equity shares of ¥ 10
each at a premium of ¥ 8 per share. The amount was payable as follows :

On Application : ¥ 4 per share (including ¥ 2 premium)

On Allotment : ¥ 6 per share (including ¥ 3 premium)

On First Call : ¥ 5 per share (including ¥ 1 premium)

On Second and Final Call : Balance Amount
The issue was fully subscribed. Gopal, a shareholder holding 200 shares,
did not pay the allotment money and Madhav, a holder of 400 shares,
paid his entire share money along with the allotment money. Gopal’s
shares were immediately forfeited after allotment. Afterwards, the first
call was made. Krishna, a holder of 100 shares, failed to pay the first call
money and Girdhar, a holder of 300 shares, paid the second call money
also along with the first call. Krishna’s shares were forfeited immediately
after the first call. Second and final call was made afterwards and was
duly received. All the forfeited shares were reissued at ¥ 9 per share
fully paid up.
Pass necessary journal entries for the above transactions in the books of
the company.

OR

JJK Ltd. invited applications for issuing 50,000 equity shares of ¥ 10
each at par. The amount was payable as follows :

On Application : ¥ 2 per share

On Allotment : ¥ 4 per share

On First and Final Call : Balance Amount
The issue was oversubscribed three times. Applications for 30% shares

were rejected and money refunded. Allotment was made to the remaining
applicants as follows :

Category No. of Shares Applied  No. of Shares Allotted
I 80,000 40,000
II 25,000 10,000

Excess money paid by the applicants who were allotted shares was
adjusted towards the sums due on allotment.

Deepak, a shareholder belonging to Category I, who had applied for
1,000 shares, failed to pay the allotment money. Raju, a shareholder
holding 100 shares, also failed to pay the allotment money. Raju belonged
to Category II. Shares of both Deepak and Raju were forfeited
immediately after allotment. Afterwards, first and final call was made
and was duly received. The forfeited shares of Deepak and Raju were
reissued at ¥ 11 per share fully paid up.

Pass necessary journal entries for the above transactions in the books of
the company.

67/3 17 P.T.O.
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19.

20.
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TUE @
(foreiar feramott st fargetwon)

PART B

(Analysis of Financial Statements)

“Uehrg vaTg forawor’ <1 o= 319 B 2
What is meant by ‘Cash Flow Statement’ ?

Uehg AT Uehs qod hl DISH TG HRNNA Yol H HH J=Te Tiafarert |
Uhs JATE bl ST, HTTWH AYT $TH ohls UNad Tal BFT ? 3794 I
e § R AT |

Will ‘Net decrease in working capital’ other than cash and cash
equivalents, increase, decrease or not change Cash Flow from Operating
Activities ? Give reason in support of your answer.

Tercfiar foreoni < forgetwor’ sht fepegl =R #imiati =61 3g@ Hif |

State any four limitations of ‘Analysis of Financial Statements’.

wn. fafies 1 Tarfied 3@ 080 : 13 |

HIOT 34 U 3@ Hife o Frafafad daet @ w@ifics siguma siem, =em
31oaT 39Y HIE giEdd T8 2
(i) &% & T 2,00,000 T 9= a9 g¥ETq <F K0T Yed foRAT |

(i) ¥ 75,000 =T AL T 7T 6 Teham 7T |
(iii) T 1,00,000 % 5% e q@ieeprt (AfmEY) 791 1 Mem fowa |

(iv) T 4,00,000 T WA o A g foshar I Twar 7N 1 fiwa feman
T |

The proprietary ratio of M. Ltd. is 0-80 : 1.

State with reasons whether the following transactions will increase,
decrease or not change the proprietary ratio :

) Obtained a loan from bank ¥ 2,00,000 payable after five years.
(i1)  Purchased machinery for cash ¥ 75,000.
(iii)) Redeemed 5% redeemable preference shares ¥ 1,00,000.

(iv) Issued equity shares to the vendors of machinery purchased for
T 4,00,000.
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22, fo<fia foemon it @R aumeneti, fagrai, gfskanett qen faferes qateror o,
oo sareETies e Tl Bl 8, bl LA H W@ R IR e S g 1 3
oo Ut g=1 1 Gid g 8 ek MR W et sl e v foefi
feufa o sk o fihy fhard € dTfch SURTeRdT Ul § $ehl TUS Heb aell
FIhT IUANT 319 3Tk footan o Stelqul &9 & o T |
ITYh HH ° UH Tohral &1 Hodl i IgaH hifore Foen! fopet ot sl 1o
ot foreror G a9 &= | W@ =@iiee | 38 ot g Shifsie b el
stfufem, 2013 i SEA III o AJIR TH HoEr & feufq faawor #
frfaRad wal o1 fora-ferm g Sfivehi e 3u-sfiveri < ofvia gurten o @ 4

) ISihma =

(i) Yo A=Y
(i) Gau IR
(iv) s fefaey

Financial statements are prepared following the consistent accounting
concepts, principles, procedures and also the legal environment in which
the business organisations operate. These statements are the sources of
information on the basis of which conclusions are drawn about the
profitability and financial position of a company so that their users can
easily understand and use them in their economic decisions in a
meaningful way.

From the above statement identify any two values that a company should
observe while preparing its financial statements. Also, state under which
major headings and sub-headings the following items will be presented in
the Balance Sheet of a company as per Schedule III of the Companies
Act, 2013.

(1) Capital Reserve
(i1) Calls-in-Advance
(1i1) Loose Tools

(iv)  Bank Overdraft

67/3 19 P.T.O.



23.  31.3.2016 ! TH.3MR.TH. fafies & Ffafaa feufa foawo qen sifafea gz =
Uhg a8 faewur dar hifSe 6
31.3.2016 ' TH.AR.TH. fefies = feafa faemm

e | 31.8.2016 | 31.3.2015
Teraar g. T T
I - {HAT TS qFaTy
(1) ofer gt 4,50,000 |  3,50,000
(9) &= ud Ao 1 1,25,000 50,000
2. amé‘qmi
ErefepTeliA 0T 2 2,25,000 | 1,75,000
3. %nqﬁtm‘rﬁ
(31) LRI F 3 75,000 37,500
CIRSECSIERIERIE] 4 1,00,000 62,500
E3 9,75,000 |  6,75,000
II - gttt
1. | 3TreT gt
(31) woTe ufEratEt
(i) T 5 7,32,500 |  4,52,500
(i) 3T 6 50,000 75,000
(F) erae Fraw 75,000 50,000
2. mq\trﬁumﬁﬁ
(1) = fHaw 20,000 35,000
() wei (ArerE) 7 61,000 36,000
(") Ushg AT Ushg oo 36,500 26,500
K3 9,75,000 |  6,75,000
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T & e

:ﬁ? — 31.3.2016 31.3.2015
9. T T
1. | oo ud i
(amferrr — emw-gri foeror =1 9) 1,25,000 50,000
1,25,000 50,000
2. | drdeRTel /T
12% OIS 2,25,000 1,75,000
2,25,000 1,75,000
3. | TIRTA T
S ferfaery 75,000 37,500
75,000 37,500
4. | TYHRTAN TELH
& AT 1,00,000 62,500
1,00,000 62,500
5. | ga uteEraraat
i 8,37,500 5,22,500
Tshid (Hf<d) qedasmE (1,05,000) (70,000)
7,32,500 4,52,500
6. | oTHd UfEr Tt
=t 50,000 75,000
50,000 75,000
7. | T2k (ATEET)
e (forsht o6 fere wred) 61,000 36,000
61,000 36,000
STIARE G :

(i)
(i1)

Z 50,000, 12% U= AT (11199 31.8.2016 =h! feham 73T |
a9 ¥ us wefie, bt @ma T 40,000 oft dun 9 W wwta (wfd)

TeIBTE T 20,000 AT, i T 5,000 hT I T =T T |
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Balance Sheet of SRS Ltd. as on 31.3.2016

From the following Balance Sheet of SRS Ltd. and the additional
information as on 31.3.2016, prepare a Cash Flow Statement :

Note | 31.3.2016 31.3.2015
Particulars No. F F
I - Equity and Liabilities :
1. | Shareholder’s Funds :
(a) Share Capital 4,50,000 3,50,000
(b) Reserves and Surplus 1 1,25,000 50,000
2. | Non-Current Liabilities :
Long-term Borrowings 2 2,25,000 1,75,000
3. | Current Liabilities :
(a) Short-term Borrowings 3 75,000 37,500
(b) Short-term Provisions 4 1,00,000 62,500
Total 9,75,000 6,75,000
II - Assets :
1. | Non-Current Assets :
(a) Fixed Assets:
(i) Tangible 5 7,32,500 4,52,500
(i1) Intangible 6 50,000 75,000
(b) Non-Current Investments 75,000 50,000
2. | Current Assets :
(a) Current Investments 20,000 35,000
(b) Inventories 7 61,000 36,000
(c) Cash and Cash Equivalents 36,500 26,500
Total 9,75,000 6,75,000

67/3
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Notes to Accounts

Note . 31.3.2016 | 31.3.2015
Particulars
No. 4 T
1. Reserves and Surplus

(Surplus i.e., Balance in the

Statement of Profit and Loss) 1,25,000 50,000

1,25,000 50,000

2. Long-term Borrowings
12% Debentures 2,25,000 | 1,75,000
2,25,000 | 1,75,000

3. Short-term Borrowings
Bank Overdraft 75,000 37,500
75,000 37,500

4, Short-term Provisions

Proposed Dividend 1,00,000 62,500

1,00,000 62,500

5. Tangible Assets
Machinery 8,37,500 | 5,22,500
Accumulated Depreciation (1,05,000) | (70,000)

7,32,500 | 4,52,500

6. Intangible Assets
Goodwill 50,000 75,000

50,000 75,000

7. Inventories
Stock in Trade 61,000 36,000

61,000 36,000

Additional Information :

1) T 50,000, 12% debentures were issued on 31.3.2016.

(i1))  During the year a piece of machinery costing ¥ 40,000, on which
accumulated depreciation was ¥ 20,000, was sold at a loss of
T 5,000.

67/3 23 P.T.O.



18.

19.

20.

21.

22.

23.

67/3

Qs @

(stfrenfers TraTe)
PART B
(Computerized Accounting)
TRy 1 T A 7 ? 1

What is meant by a ‘Query’ ?

‘Teper-3muTi-ufdaed =1 @ 319 3§ 2 1
What is meant by a ‘Database Report’ ?

‘A1 Tg g QrdT 9 o Tehegl =X 39S Skl HHEATSY | 4

Explain any four sub-groups of the Account Group ‘Profit and Loss’.

ANRITT QTR TR o Yfqeemdd # [Hfgd =won =1 a9wmsu | 4

Explain the steps involved in the installation of computerized accounting
software.

faferse ci@Tehd AfFeaRR &1 w9F & § @ &9H § @ IH aidl ‘A=ieiod qe
“TEATH-ATT <l THSTET, | 4

Explain ‘Flexibility’ and ‘Cost of installation’ as considerations before
opting for specific accounting software.

HEGT H AW HIfCTH oAl o BH o HRU The g aTell IiE h TEaH
HINT | 38 (T H8 gL A1 1 ka1 B 2 AWSATST | 6

Identify the error that appears when there are invalid numeric values in

a formula for function. How can this error be removed ? Explain.

24 90,000



Q. Set No.

67/

67/

67/

Marking Scheme 2016-17
Accountancy (055)

QOutside Delhi —67/3

Expected Answers / Value points

Distribution
of marks

Q.Pand Qwere.......cccceeevvveennne rectify the error.
Ans.
Books of the firm
Journal

Date Particulars LF Dr () Cr(7)

2016 P’s Current A/c Dr. 6,000
April 1 To Q’s current A/c 6,000
( Being the adjustment of interest on
capital omitted in previous year)

=1 Mark

Q. XLtd. invited.........cceevvrvrnreene with applicants.
Ans. Books of the firm
Journal

Date Particulars LF Dr () Cr(")

2016 Bank A/c Dr. 57,000
Janl To 12% Debenture Application & Allotment A/c 57,000
( Being application money received for 600
debentures @ ~ 95 each)

2016 12% Debenture Application & Allotment A/cDr. 57,000
Jan1 Discount on Issue of Debentures A/c  Dr. 2,500
To 12 % Debentures A/c 50,000
ToBank A/c 9,500
(Being 500, 12% debentures allotted on
pro-rata basis)

Yo

Yo

=1 Mark

(O 1 I (o I can be re-issued.
Ans. The maximum amount of discount at which these shares can be re-issued is 5 per
share or ~ 5000.

=1 Mark

Q. Durga and Naresh...........c.ccoeenee. by them.
Ans. Any two of the following:
e Persons of unsound mind / Lunatics
¢ Insolvent persons
¢ Any other individual who have been disqualified by law

X2
=1 Mark

Q. Distinguish between................... credit balance.
Ans. Fixed Capital Accounts always show a credit balance while fluctuating capital accounts
may show credit or debit balance.

=1 Mark

Q.AandB.........ccoeevernnenn. B’s sacrifice.

Ans. A’s Old Share =5/8

A’s Sacrifice = 1/5 0f 5/8 = 1/8

C’s Share =3/8

B’s Sacrifice = C’s share — A’s sacrifice = 3/8 - 1/8 = 2/8
OR

B’s Old Share = 3/8

B’s new share = 2/8

B’s Sacrifice =3/8-2/8=1/8

=1 Mark

Q. Kavi, Ravi, Kumar .........cccoeeeeeenns Guru’s retirement.
Ans.
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Books of the firm

Journal
Date Particulars LF | Dr. Amt Cr. Amt
) )
2017 | Kavi’s Capital A/c Dr. 81,000
Jan 31 To Ravi’s Capital A/c 18,000 2
To Kumar’s Capital A/c 18,000
To Guru’s Capital A/c 45,000
(Being adjustment of Goodwill on Guru’s
retirement)
Working Notes:
1. Calculation of Gaining Ratio:
Kavi Ravi Kumar Guru
New Ratio 3/5 1/5 1/5 i !
Old Ratio 348 2/8 _ 2/8 _ s 3 Mzrks
9/40 (Gain) 2/40 (Sacrifice) | 2/40 (Sacrifice) | 1/8 (Sacrifice)
Q. Disha Ltd. Purchased...............cc....... Nisha Ltd.
Ans.
Disha Ltd.
Journal
Date Particulars LF | Dr. Amt Cr. Amt
() ()
(i) Machinery A/c Dr. 1,78,000
To Nisha Ltd. 1,78,000 v
(Being machinery purchased from Nisha Ltd.)
(ii) Nisha Ltd. Dr. 1,10,000
To Equity Share Capital A/c 1,00,000 1
To Securities Premium Reserve A/c 10,000
( Being 10,000 equity shares of ~ 10 each
issued at 10% premium)
(iii) Nisha Ltd. Dr. 18,000
Discount on Issue of Debentures A/c Dr. 2,000
To 9% Debentures A/c 20,000 1
(Being 200 9% debentures of ~ 100 each issued
at 10% discount)
(iv) Nisha Ltd. Dr. 50,000
To Bills Payable A/c 50,000 "
(Being balance payment made by accepting
one month bill of exchange)
OR
Disha Ltd.
Journal
Date Particulars LF | Dr. Amt Cr. Amt
() ()
(i) Machinery A/c Dr. 1,78,000
To Nisha Ltd. 1,78,000
(Being machinery purchased from Nisha Ltd.) Y
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(ii) Nisha Ltd. Dr. 1,78,000
Discount on Issue of Debentures A/c Dr. 2,000
To Equity Share Capital A/c 1,00,000
To 9% Debentures A/c 20,000 2%
To Bills Payable A/c 50,000
To Securities Premium Reserve A/c 10,000 -
(Being payment made to Nisha Ltd.) 3 Marks
Working Notes:
Purchase Consideration = 1,10,000 + 18,000 + 50,000 =~ 1,78,000
10 |7 9 Q. Ganesh Ltd. IS........cccovvrvernnnen. to propagate.
Ans.
Balance Sheet of Ganesh Ltd.
Asat.........ccoeenee. (As per revised schedule VI)
Particulars Note No. Amount (7) Amount (7)
Current year Previous year
EQUITY & LIABILITIES
| Shareholder’s funds :
c) Share Capital 1 6,09,96,000 Y
Notes to Accounts :
Particulars )
(3) Share Capital
Authorised Capital :
1,00,00,000 equity shares of ~10 each 10,00,00,000 2
Issued Capital
61,00,000 equity shares of ~ 10 each 6,10,00,000 2
Subscribed Capital
Subscribed and fully paid
60,98,000 shares of ~10 each 6,09,80,000
Subscribed but not fully paid
2,000 equity shares of 10 each 20,000
Less: Calls in arrears (2,000 X2) 4,000 16,000 6.09,96,000 2
Values (Any two):
e Providing employment opportunities to the local youth.
e Promotion of development in tribal areas. e
e Promotion of skill development in Arunachal Pradesh.
e Paying attention towards regions of social unrest. =3 Marks
(Or any other suitable value)
7 10 |10 | Q.BPLLtd...ccoovvveeiiieiiiee equity shares.
Ans.
BPL Ltd.
Journal
Date Particulars LF | Dr. Amt Cr. Amt
() ()
9% Debentures A/c Dr. 50,000
To Debenture holders A/c 47,000 1
To Discount on issue of debentures A/c 3,000
(Being amount payable to debenture holders
on conversion)
Debenture holders A/c Dr. 47,000
To Equity Share Capital A/c 37,600 1
To Securities Premium Reserve A/c 9,400
(Being 9% debentures converted into equity
shares)
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Working Notes:

Number of equity shares to be issued = 47000/125 = 376 shares 1
3 Marks
11 |12 |11 | Q.Madhuand Neha...........c....cuee.. premium in cash.
Ans.
(a) Calculation of Hidden Goodwill:
Tina’s share = ¥,
Tina’s Capital = = 4,00,000
(a) Total capital of the new firm = 4,00,000 X 4 = 16,00,000
(b) Existing total capital of Madhu, Neha and Tina =" 4,00,000 + = 6,00 000 + ~ 4,00,000
=" 14,00,000 1
Goodwill of the firm = 16,00,000-14,00,000 = 2,00,000
Thus, Tina’s share of goodwill =% X 2,00,000 = 50,000
(b) Calculation of New Profit Sharing ratio :
Madhu’s new share = 3/8
Neha’s new share = 5/8 - 1/4 = 3/8
Tina’s share = Ysi.e. 2/8 1
New Ratio =3:3:2
(©)
Books of the firm
Dr. Journal Cr.
Date Particulars LF Dr (7) Cr (")
2016 Tina’s Current A/c Dr. 50,000 2
Aprl To Neha’s Current A/c 50,000 =
(Being credit given for goodwill to Neha on 4 Marks
Tina’s admission)
12 |11 | 12 | Q. Ashok, Babu and Chetan.......................... Capital Account.
Ans.
Ashok’s Capital A/c
Dr Cr
Date Particulars Amt (7) Date Particulars Amt (7)
2016 2016
Dec 31 | To Drawings A/q 1, 15,000 | April 1 | By Balance b/d @ 90,000
Dec 31 | Tolntereston 1,500 | Dec 31 | By Interest on 8,100 % X8
Drawings A/c @ Capital A/c
Dec31 | To Ashok’s 3,01,600 | Dec31 | By P &L Suspens&™{ 1,) 40,000
Executor’s A/c Alc =
@ Dec 31 | By Babu’s Capital 90,000
Alc 4 Marks
Dec 31 | By Chetan’s Capital 90,000
Vs (4
3,18,100 | 3.18,100
- - 13 | Q. Kapil, Mohit, Roshan and Rakesh................c.c......... reconstituted firm.

Ans.
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Revaluation A/c

Dr Cr
Particulars Amt (7) Particulars Amt (7)
To Claim for Workmen 20,000 | By loss on revaluation
Compensation transferred to Partners’ 1%
To fixed assets A/c 80,000 | Capital A/c
Kapil 50,000
Mohit 20,000
Roshan 20,000
Rakesh 10,000 | 1,00,000
1,00,000 1,00,000
Partners’ Capital A/c
Dr Cr
Particulars Kapil Mohit | Roshan | Rakesh Particulars Kapil Mohit Roshan | Rakesh
To By Balance 3,50,000 3,00,000 2,50,000 2,00,000
Revaluation 50,000 20,000 20,000 10000 | b/d
Alc
To Kapil’s 3,600 3,600 10800 | By Mohit’s 3,600
Capital A/c Capital A/c 2%
To Partners’ 68,000 26,400
Current A/c By Roshan’s 3,600
Capital A/c
I}JdBalance 2,50,000 2,50,000 2,50,000 2,50,000 By Rakesh’s 10800
Capital A/c
gﬁﬁz:?:;z’ 23,600 70,800
3,68,000 3,00,000 2,73,600 2,70,800 3,68,000 3,00,000 2,73,600 2,70,800
Balance Sheet of P, Q,Rand S
as at 31° March 2016
Liabilities Amt (7) Assets Amt (7)
Partners’ Capital A/c: Fixed Assets 7,20,000
Kapil 2,50,000 Current Assets 4,00,000 2
Mohit 2,50,000 Partners’ Current A/c:
Roshan 2,50,000 Roshan 23,600
Rakesh 2,50,000 10,00,000 | Rakesh 70,800 94,400 -
Claim for Workmen 70,000 6 Marks
Compensation
Sundry Creditors 50,000
Partners’ Current A/c:
Kapil 68,000
Mohit 26,400 94,400
12,14,400 12,14,400
14 |1 Q. On1-4-2015....ccccvvvvveieiiinnn, ended 31.3.2016.
Ans.
MKM Ltd.
Journal
Date Particulars LF Dr () Cr(")
2015 Bank A/c Dr. 11,04,000
Apr1l To 11% Debenture Application & Allotment A/c 11,04,000
(Being application money received) 1
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2015
Aprl

11% Debenture Application & Allotment A/c Dr.
Discount on Issue of Debentures A/c Dr.

Loss on Issue of Debentures A/c Dr.

To 11 % Debentures A/c
To Premium on Redemption of Debentures A/c
(Being transfer of application money to
debenture account issued at discount of 8%,
but redeemable at premium of 10%)
Or

11% Debenture Application & Allotment A/c Dr.
Loss on Issue of Debentures A/c Dr.

To 11 % Debentures A/c

To Premium on Redemption of Debentures A/c
(Being transfer of application money to
debenture account issued at discount of 8%,
but redeemable at premium of 10%)

11,04,000
96,000
1,20,000

11,04,000
2,16,000

12,00,000
1,20,000

12,00,000
1,20,000

2015
Sep 30

Debenture Interest A/c Dr.
To Debenture holders A/c
To TDS Payable A/c
(Being interest payable on 11% debentures and
tax deducted at source @ 10%)

66,000

59,400
6,600

2015
Sep 30

Debenture holders A/c Dr.

TDS Payable A/c Dr.

To Bank A/c
(Being interest paid to debentures and TDS
deposited)

59,400
6,600

66,000

2016
Mar 31

Debenture Interest A/c Dr.
To Debenture holders A/c
To TDS Payable A/c
(Being interest payable on 11% debentures and
tax deducted at source @ 10%)

66,000

59,400
6,600

2016
Mar 31

Debenture holders A/c Dr.

TDS Payable A/c Dr.

To Bank A/c
(Being interest paid to debentures and TDS
deposited)

59,400
6,600

66,000

2016
Mar 31

Statement of Profit & Loss Dr.

To Debenture Interest A/c
(Being interest on debentures transferred to
statementtoP & L)

1,32,000

1,32,000

Yo

Yo

6 Marks

15

Q. Pass necessary.........cccceeeruverenns R 5,000.

Ans.

Books of the firm
Journal

Date

Particulars LF

br ()

Cr ()

Realisation A/c Dr.
To John’s Capital A/c
(Being remuneration given to John)

500

500

(i)

Realisation A/c Dr.
To Joney’s Capital A/c

(Being dissolution expenses paid by

partner)

750

750

(iil) .

Realisation A/c Dr.
To Bony’s Capital A/c
(Being remuneration given to Bony)

3,700

3,700

Yo
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(iii) b.

Bony’s Capital A/c Dr.
To Bank/ Cash A/c

(Being the dissolution expenses paid by the

firm on behalf of partner)

4,200

4,200

(iv)a.

Realisation A/c Dr.
To Sony’s Capital A/c
(Being remuneration given to Sony)

Sony’s Capital A/c Dr.
To Realisation A/c

(Being stock taken over by Sony as
remuneration)

OR
No Entry

10,000

10,000

10,000

10,000

Realisation A/c Dr.
To Vikky’s Capital A/c

(Being partner Vikky remunerated for

dissolution expenses)

Vikky’s Capital A/c Dr.
To Clive’s Capital A/c

(Being the dissolution expenses paid by the

Clive on behalf of the partner debited to

his capital A/c)

Note: If part a. Is correctly done, full credit

is to be given.

12,000

12,500

12,000

12,500

Realisation A/c Dr.
To Bank/ Cash A/c
(Being dissolution expenses paid)

5,000

5,000

Yo

Yo

Yo

Yo

Yo

1

6 Marks

16

17

16

Q.CandDare ...cocceeeeeevvcrnvrenennn. E’s admission.

Ans.

Books of the firm
Journal

Date

Particulars

LF

br ()

Cr ()

(i)

General Reserve A/c Dr.
To C’s Capital A/c
To D’s Capital A/c
(Being General Reserve distributed among
partners)

10,000

8,000
2,000

(ii)

Cash A/c Dr.
To E’s Capital A/c
To Premium for Goodwill A/c
(Being cash received as E’s capital and
premium for goodwill)

1,20,000

1,00,000
20,000

(iil)

Premium for Goodwill A/c Dr.
To C’s Capital A/c
To D’s Capital A/c
(Being premium for Goodwill credited to
old partner’s capital account in sacrificing
ratio)

20,000

16,000
4,000
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(iv) | C’sCapital A/c Dr. 8,000
D’s Capital A/c Dr. 2,000 Y
To Cash A/c 10,000
(Being half of goodwill amount withdrawn
by Cand D)
v) Bad debts A/c Dr. 2,000
To Debtors A/c 2,000 Ya
(Being debtors ~2,000 written off)
(vi) Provision for bad and doubtful debts A/c  Dr. 2,000
To Bad debts A/c 2,000
(Being provision utilised for writing off bad Y
debts)
(vii) Provision for bad and doubtful debts A/c  Dr. 640
To Revaluation A/c 640 Y
(Being provision for bad debts decreased)
(viii) | Revaluation A/c Dr. 14,000
To Stock A/c 2,000
To Furniture A/c 4,000 1%
To Plant & Machinery A/c 8,000
(Being decrease in assets recorded)
(ix) Investments A/c Dr. 7,000
To Revaluation A/c 7,000 Yo
(Being increase in investments recorded)
x) Revaluation A/c Dr. 2,300
To Outstanding Repairs A/c 2,300 Y2
(Being increase in liabilities recorded)
(xi) | C’s Capital A/c Dr. 6,928
D’s Capital A/c Dr. 1,732 Ya
To Revaluation A/c 8,660 =
(Being loss on revaluation transferred to 8 Marks
Partner’s Capital A/c)
Note: In case an examinee has combined
entry number (viii) and (x) or (vii) and (ix),
full credit may be given.
16 |17 | 16 | Q.Sameer, Yasmin and Saloni were..............c......... Sameer’s retirement.
OR | OR | OR | Ans.
Books of the firm
Journal
Date Particulars LF Dr () Cr(7)
(i) General Reserve A/c Dr. 60,000
To Sameer’s Capital A/c 24,000
To Yasmin’s Capital A/c 18,000 1
To Saloni’s Capital A/c 18,000
(Being General Reserve distributed among
partners)
(ii) Sameer’s Capital A/c Dr. 20,000
Yasmin’s Capital A/c Dr. 15,000
Saloni’s Capital A/c Dr. 15,000 1
To Profit and Loss A/c 50,000
(Being accumulated losses divided among
partners)
(iii) Bad Debts A/c Dr. 4,000
To Debtors A/c 4,000 o
(Being debtors of ~ 4000 written off)
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To Bad Debts A/c
(Being provision utilised for writing off bad
debts)

(iv) Provision for bad and doubtful debts A/c  Dr.

4,000

4,000

To Revaluation A/c
(Being excess provision transferred to
Revaluation A/c)

(V) Provision for bad and doubtful debts A/c  Dr.

1,700

1,700

To Creditors A/c
(Being increase in creditors recorded)

(vi) Revaluation A/c Dr.

20,000

20,000

To Patents A/c
To Stock A/c
To Machinery A/c
To Building A/c
(Being decrease in assets recorded)

(vii) Revaluation A/c Dr.

90,000

60,000

5,000
15,000
10,000

(viii) Sameer’s Capital A/c Dr.

Yasmin’s Capital A/c Dr.

Saloni’s Capital A/c Dr.
To Revaluation A/c

(Being loss on revaluation transferred to

Partners’ Capital A/c)

43,320
32,490
32,490

1,08,300

To Sameer’s Capital A/c
(Being Goodwill adjusted on Sameer’s
retirement)

(ix) Yasmin’s Capital A/c Dr.
Saloni’s Capital A/c Dr.

1,62,000
54,000

2,16,000

x) Sameer’s Capital A/c Dr.
To Sameer’s Loan A/c

(Being balance of Sameer’s capital

transferred to Sameer’s Loan A/c)

4,76,680

4,76,680

Note: In case an examinee has combined

entry number (vi) and (vii), full credit may
be given.

To Patents A/c

To Stock A/c

To Machinery A/c

To Building A/c

To Creditors A/c

(Being assets and liabilities revalued)

Revaluation A/c Dr.

1,10,000

60,000

5,000
15,000
10,000
20,000

Working Notes:

Amount payable to Sameer = (43,320) + 24,000 — 20,000 + 2,16,000 + 3,00,000 =" 4,76,680

Yo

Yo

Yo

Yo

Yo

8 Marks

17

16

17

Q. VXNLEd. .ooovviiiiieiieeiee books of the company.

Ans.
VXN Ltd.
Journal

Date Particulars

LF

Dr. Amt
)

Cr. Amt
()

(i) Bank A/c
To Equity Share Application A/c
(Being application money received)

Dr.

2,00,000

2,00,000
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Equity Share Application A/c Dr.
To Equity Share Capital A/c
To Securities Premium Reserve A/c
(Being application money transferred )

2,00,000

1,00,000
1,00,000

(i)

Equity Share Allotment A/c Dr.
To Equity Share Capital A/c
To Securities Premium Reserve A/c

(Being share allotment money due)

3,00,000

1,50,000
1,50,000

Bank A/c Dr.
Callsin Arrears A/c Dr.
To Equity Share Allotment A/c
To Calls in Advance A/c
(Being allotment money received except on
200 shares and calls in advance received)
OR
Bank A/c Dr.
To Equity Share Allotment A/c
To Calls in Advance A/c
(Being allotment money received except on
200 shares and calls in advance received)

3,02,000
1,200

3,02,000

3,00,000
3,200

2,98,800
3,200

Equity Share Capital A/c Dr.
Securities Premium Reserve A/c Dr.
To Shares Forfeited A/c
To Equity Share Allotment A/c/ Calls in arrears A/c
(Being 200 shares forfeited )

1,000
600

400
1,200

Equity Share First call A/c Dr.
To Equity Share Capital A/c
To Securities Premium Reserve A/c

(Being first call money due on 49,800 shares)

2,49,000

1,99,200
49,800

(vii)

Bank A/c Dr.
Callsin arrears A/c Dr.
Calls in advance A/c Dr.
To Equity Share First Call A/c
To Calls in advance A/c
(Being first call money and calls in advance
received, advance received earlier adjusted)
OR

Bank A/c Dr.
Calls in advance A/c Dr.
To Equity Share First Call A/c
To Calls in advance A/c
(Being first call money and calls in advance
received, advance received earlier adjusted)
OR
(@)
Bank A/c Dr.
Calls in arrears A/c Dr.
To Equity Share First Call A/c
To Calls in advance A/c
(Being first call money and calls in advance
received)
(b)
Calls in advance A/c Dr.
To Equity Share First Call A/c
(Being advance received earlier adjusted)

2,47,400
500
2,000

2,47,400
2,000

2,47,400
500

2,000

2,49,000
900

2,48,500
900

2,47,000
900

2,000

Yo

Yo

Yo

Yo
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OR

Bank A/c Dr.

Callsin arrears A/c Dr.

Calls in advance A/c Dr.
To Equity Share First Call A/c

(Being first call money received, advance

received earlier on 1,000 shares adjusted and

second call in advance received on 600 shares)

2,47,400
500
1,100

2,49,000

(viii)

Equity Share Capital A/c Dr.
Securities Premium Reserve A/c Dr.
To Shares Forfeited A/c
To Calls in arrears A/c/ Equity Share First Call A/c
(Being 100 shares forfeited)

900
100

500
500

Equity Share Second & Final call A/c Dr.
To Equity Share Capital A/c
To Securities Premium Reserve A/c

(Being second call due on 49,700 shares)

1,49,100

49,700
99,400

Bank A/c Dr.
Calls in advance A/c Dr.

To Equity share second and final call A/c
(Being second and final call received and
advance received earlier adjusted)

1,47,000
2,100

1,49,100

(xi)

Bank A/c Dr.

Shares Forfeited A/c Dr.
To Equity Share Capital A/c

(Being forfeited shares reissued)

2,700
300

3,000

(xii)

Shares Forfeited A/c Dr.
To Capital Reserve A/c

(Being gain on reissue on forfeited shares

transferred to capital reserve account)

600

600

Yo

Yo

Yo

Yo

8 Marks

17
OR

16
OR

17
OR

Q.JKLtd
Ans.

........................... books of the company.

Books of JIK Ltd.
Journal

Date

Particulars

LF

Dr. Amt
)

Cr. Amt
)

Bank A/c Dr.
To Equity Share Application A/c

(Being application money received on 1,50,000

shares)

3,00,000

3,00,000

Equity Share Application A/c Dr.
To Equity Share Capital A/c

To Bank A/c

To Equity Share Allotment A/c

(Being application money transferred )

3,00,000

1,00,000
90,000
1,10,000

Equity Share Allotment A/c Dr.
To Equity Share Capital A/c
(Being share allotment money due)

2,00,000

2,00,000

Bank A/c Dr.

Calls in arrears A/c Dr.
To Equity share allotment a/c

(Being Balance amount received on allotment)

88,900
1,100

90,000
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OR

Bank A/c Dr. 88,900
To Equity share allotment a/c 88,900
(Being Balance amount received on allotment)
(V) Equity Share capital A/c Dr. 3,600
To Forfeited Shares A/c 2,500
To Callsin arrears A/c 1,100 1
(Being forfeited the shares on which allotment
money was not received)
(vi) Equity share first and final call A/c Dr. 1,97,600
To Equity share Capital A/c 1,97,600 Y
(Being First and final call money due)
(vii) | Bank A/c Dr. 1,97,600
To Equity share first and final call A/c 1,97,600 o
(Being first and final call money received)
(viil) | Bank A/c Dr. 6,600
To Equity Share Capital A/c 6,000 1
To Securities Premium Reserve A/c 600
(Being forfeited shares reissued)
(ix) Shares Forfeited A/c Dr. 2,500
To Capital Reserve A/c 2,500 1
(Being gain on reissue on forfeited shares =
transferred to capital reserve account) 8 Marks
PART B
(Financial Statements Analysis)
18 | Q. Whatismeantby...............ccceee. statement? 1 Mark
Ans. A cash flow statement shows inflows and outflows of cash and cash equivalents from
various activities of a company during a specified period.
19 | Q. Will ‘Net decrease.........ccccceveeeennee. your answer.
Ans. Increase Yo
Reason: Net decrease in working capital implies inflow of cash and cash equivalents. Y
1 Mark
20 | Q.Stateany four..........cccuveee. statements.
Ans. Limitations of ‘Financial Statements Analysis’: (Any four)
(i) It is a historical Analysis as it analyses what has happened till date. It doesn’t reflect the
future. 1X4
(i) It ignores price level changes as a change in price level makes analysis of financial
statements of different accounting years invalid.
(i) It ignores qualitative aspect as the quality of management, quality of staff etc. are
ignored while carrying out the analysis of financial statements.
(iv) It suffers from the limitations of financial statements as the analysis is based on the =
information given in the financial statements.
(v) Itis.not free from bias of accountants such as method of inventory valuation , method of | 4 Marks

depreciation etc.

(vi) It may lead to window dressing i.e. showing a better financial position than what
actually is by manipulating the books of accounts.

(vii) It may be misleading without the knowledge of the changes in accounting procedure by
afirm.
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21 |22 |21 | Q.The proprietory ratio................c....... purchased for ~ 4,00,000.
Ans.
Transaction Effect on Quick Ratio Reasons
() Decrease No change in Shareholders’ funds but total
assets will increase by ~ 2,00,000 1X4
(ii) No Change No change in total assets and Shareholders’ =4 Marks
funds
(iii) Decrease Both Shareholders’ funds and total assets are
decreased by same amount
(iv) Increase Shareholders’ funds and total assets both are
increased
22 |21 | 22 | Q.Financial Statements...................... Bank Overdraft.
Ans.
Values (Any two):
e Transparency 1X2
o Consistency
e Following rules and regulations / Ethical code of conduct
e Honesty and loyalty towards owners
e Providing authentic information to users
(Or any other suitable value)
Heads Sub-heads
Capital Reserves Shareholders’ funds | Reserves and Surplus
Calls -in-advance Current Liabilities Other Current Liabilities 7 X4
Loose Tools Current assets Inventories =
Bank Overdraft Current Liabilities Short term borrowings 4 Marks
23 |23 | 23 | Q.From the following..........c..cccveee. loss of ~ 5,000.
Ans.
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Cash flow statement of SRS Ltd.

For the year ended 31° March 2016 as per AS-3 (Revised)

Particulars Details (7) Amount (7)
A. Cash Flows from Operating Activities:
Net Profit before tax & extraordinary items (note 1) 1,75,000
Add: Non cash and non-operating charges
Goodwill written off 25,000
Depreciation on machinery 55,000
Interest on debentures 21,000
Loss on sale of machinery 5,000
Operating_ profit before working capital changes 2,81,000
Less: Increase in Current Assets
Increase in inventories (25,000)
Net Cash generated from Operating Activities 2,56,000
B. Cash flows from Investing Activities :
Purchase of machinery (3,55,000)
Sale of machinery 15,000
Purchase of non current investments (25,000)
Net Cash used in investing activities (3,65,000)
C. Cash flows from Financing Activities: 4
Issue of share capital 1,00,000
Issue of 12% debentures 50,000
Interest on debentures paid (21,000)
Dividend paid (62,500)
Bank overdraft raised 37,500
Net Cash flow from financing activities 1,04,000 |
Net decrease in cash & cash equivalents (A+B+C) (5,000)
Add: Opening balance of cash & cash equivalents
Current Investments 35,000
Cash and Cash Equivalents 26,500 61,500
Closing Balance of cash & cash equivalents
Current Investments 20,000
Cash and Cash Equivalents 36,500 56,500
Notes:
Calculation of Net Profit before tax:
Net profit as per statement of Profit & Loss 75,000
Add: Proposed Dividend 1,00,000
Net Profit before tax & extraordinary items 1,75,000
Machinery A/c
Particulars ) Particulars )
To Balance b/d 5,22,500 | By Cash A/c 15,000 \
To Cash A/c 3,55,000 | By Statement of P/L 5,000
(Purchase) (Bal fig.)
By Accumulated Depreciation A/c 20,000
By Balance c/d 8.37.500
8,77,500 8,77,500
Accumulated Depreciation A/c
Particulars ) Particulars )
To Machinery A/c 20,000 | By Balance b/d 70,000
To Balance c¢/d 1,05,000 | By Statement of P/L 55,000
1,25,000 1,25,000 /
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1%

Yo

Yo

6 Marks




PART B
(Computerized Accounting)

19

18

18

Q. What is meant................. Query’?

Ans. Queries provide the capability of combined data from multiple tables and placing
specific condition for the retrieval of data. It is another tabular view of the data showing
information from multiple tables, resulting in presentation of the information required,
raised in the query.

1 Mark

18

19

19

Q. Whatis ......ccvvvivieriinnne Database Report’?
Ans. A database report is the formatted result of database queries and contains useful data
for decision-making and analysis.

1 Mark

21

22

20

Q. Explainany.......c.ccccoevvveninnnne "Profit and Loss’.
Ans. Any four of the following:
Sales Account
Purchase Account
Direct Income
Indirect Income
Direct Expenses
¢ Indirect Expenses
(With appropriate explanation)

1X4

4 Marks

22

20

21

Q. Explain the steps.........cccceevvvennnen. software.

Ans. Steps in installation of CPS:

1. Insert CD in the system

2. Select C:,E:, or D: drive from my computer

OR Start>run>type the filename E:\install.exe

3. The default directories of application, data and configuration will open in a window.
Change the setting if you wish by providing desired file name and drive name.

4. Click on install. The installation process will start and a message of successful installation
will appear after its completion.

The CD can be removed as the application is successfully installed.

4 Marks

20

21

22

Q. Explain ‘Flexibility’...........c.ccceeenee. accounting software.
Ans. Flexibility: (It may include following points)
¢ Related to data entry, availability and design of various reports.
e Between users (Accountants)
e Between systems.
Cost of installation and maintainence: (It may include following points in explanation)
¢ Ability to afford hardware and software
o Cost benefit analysis and study of available options
o Training of staff, cost of updating

23

Q. Identify the error.........ccccoccvviiieeinnns be removed? Explain.

Ans. The error is #NUMIError.

Following steps can be taken to correct the error:

1. Optionally, click a cell that displays the error, click the button that appears, and then click
show calculation steps if it appears.

2. Review the following possible causes and solutions.

3. Using an unacceptable argument in a function that requires a numeric argument.

4. Make sure that arguments used in the function are numbers

5. Use a different starting value for worksheet function.

6 Marks
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